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Part 1

Grammar: Conditional Sentences

Choose the best answer.

1

We would have died if the world....

ao
C.
A:
B

d.

C.

explodes

would explode

What would they..

[ don't know.
do

have

[f | had sold this house

a.

C.

would get

would have got

b. exploded
d. had exploded

b. did

d. would do
b. got

d. had got

Which sentence is correct?

a.
b

C.

I will marry you if you loved me.

| would marry you if you had loved me

I will marry you if you love me.

| would marry you if

What would you do if

If I got up early,
If I got up early,
[f 1 got up early,
[f 1 got up early,

you would love me

you got up early?

will walk to work.
walked to work.
would walk to work.

would have walked to work.
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Which sentence is correct?

a. Ifyou go away, | will not know what to do.
If you go away, | do not know what to do.

¢c. Ifyou will go away, | do not know what to do.

d. If you would go away, | would not knew what to do.

Would you lend me some more money if | . for it?
a. ask b.  will ask
c. asked d. would ask

What would you do if you were me?

a. | shall not drink that whisky if I am you.

b. | would not drink that whisky if | was you.
c. | should not drink that whisky if | were you.
d. | would have not drunk that whisky if | were you.

A: What will you do if you go to Pattaya?

a. If | go to Pattaya, | swam in the sea.
b. If I will go to Pattaya, | will swim in the sea.
¢c. If I goto Pattaya, | swim in the sea.

d. If | goto Pattaya, | will swim in the sea.

L[ — the English teacher better if Ne . more slowly.
a. understand, speaks . Will understand, spoke

C. understand, spoke d. would understand, spoke



11.

15.

A What will you buy if you have 1,000,000 baht?

a. | will buy a house if I had 1,000,000 baht
b. | will buy a house if | have 1,000,000 haht
¢c. | would buy a house if | have 1,000,000 baht
d. I would buy a house if 1 had 1,000,000 baht.

| f | would have run away
a. see h. saw

c. would see d. had seen

LE 1 were a girl, 1o Very happy.

a. were b. would be

¢C. had been d. would have been

| f

a. am, will tell b. was, would tell

c. were, will tell d. were, would tell

Which sentence is correct?

a. | will helpyou if youhad helped yourself first,
b. | will helpyou if youhelped yourself first.

c. | will helpyou if youhelp yourself first.

d. I will helpyou if youwill help yourself first.

60
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Part 2 : Comprehension "An Advertisement”

Choose the best answer.

1. From the passage, the cause of the accident wWas....
a. the rain b. John's tiredness

c. the dog d. the lamp post

2. John Storey's reaction was slow because 0f .
a. the rain b. his tiredness

c. the dog d. the lamp post

3. When John had an accident the driving condition was not so good

DECAUSE 0 f oo
a. the rain . his tiredness
c. the dog d. the lamp post

4. John couldn't control Nis Car DECAUSE s
a. he turnedsuddenly b. hiscar was broken

¢c. the roadwas wet d. a. and b. are correct

6. According to John's aCCIUent .
a. he need his car for work
b. he spent three weeks in the hospital
¢. his work took him to many parts of the country

d. a. and c. are correct

7. The person who took care 0f hiS CAI WS
a. his wife b. Western Insurance

c. the hospital d. John's company
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The reason John needed a car was DeCAUSE s
a. he was badly injured

b. he was in the hospital

¢. his work need to use the car

d. his wife had to come to the hospital

John didn't have any worries about his car because
a. he was in the hospital

b. the insurance company looked after it

c. his wife took good care of it

d. the doctor told him not to feel worry

The main idea of the overall passage IS ..
a. John's accident

b. the advertisement of Western Insurance Company
¢c. John's car's damage

d. John's daily life
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